Spieler 1 2 3 4 5 6 7 8 Punkte Platz

1 |Konstantin Berger 1 0 Yo 1 1 Yo 1 5.0 1

2 |Tim Melkert 0 1 1 1 1 Yo Yo 5.0 2

3 |Harald Bul3 1 0 Yo 1 Yo - 1 4.0 3

4 |Philipp Hoffmann % 0 Yo 0 1 Yo 1 35 4

5 |Glnter Schafer 0 0 0 1 Yo 1 Yo 3.0 5

6 |Oskar Braun 0 0 Yo 0 Yo 1 1 3.0 6

7 |Siegmar Scharlow ¥ ¥ + P2 0 0 0 2.5 7

8 |Dirk Simons 0 Yo 0 0 Yo 0 1 2.0 8
1. Runde (04.03.2013) 2. Runde (18.03.2013)
Dirk Simons - Tim Melkert 1/ 2 Tim Melkert - Harald Buf 1:0
Konstantin Berger - Gunter Schéfer 1:0 Philipp Hoffmann - Oskar Braun 1:0
Siegmar Scharlow - Philipp Hoffmann 1/2 Glnter Schéafer - Siegmar Scharlow 1:0
Oskar Braun - Harald Buf 1/ 2 Dirk Simons - Konstantin Berger 0:1
3. Runde (08.04.2013) 4. Runde (22.04.2013)
Konstantin Berger - Tim Melkert 1:0 Tim Melkert - Philipp Hoffmann 1:0
Siegmar Scharlow - Dirk Simons 0:1 Glnter Schafer - Harald Buf 0:1
Oskar Braun - Glnter Schafer 1/ 2 Dirk Simons - Oskar Braun 0:1
Harald Buf3 - Philipp Hoffmann 1/ 2 Konstantin Berger - Siegmar Scharlow 1/2
5. Runde (06.05.2013) 6. Runde (27.05.2013)
Siegmar Scharlow - Tim Melkert 1/ 2 Tim Melkert - Glnter Schéfer 1:0
Oskar Braun - Konstantin Berger 0:1 Dirk Simons - Philipp Hoffmann 0:1
Harald Buf3 - Dirk Simons 1:0 Konstantin Berger - Harald BuR 0:1
Philipp Hoffmann - Glnter Schafer 0:1 Siegmar Scharlow - Oskar Braun 0:1
7. Runde (10.06.2013)
Oskar Braun - Tim Melkert 0:1
Harald Buf3 - Siegmar Scharlow -t
Philipp Hoffmann - Konstantin Berger 1/ 2
Glnter Schafer - Dirk Simons 1/ 2




